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1 4815H ABEINFER 0.06 - - -
2 48158 BIREHFER 0.07 - - -
3 4F14H KENE/NFR 0.07 - 0.07 0.07
4 4814H FINERL 0.06 - 0.06 -
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5 48148 FERER 0.06 - - -
6 4815H IR INERR 0.07 - 0.08 0.08
7 4878 R 0.07 - - -
8 4878 BUR/INVER 0.07 - 0.08 0.07
9 4878 KIEINERR 0.08 - - -
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10 4878 FH IR 0.10 - - -
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1 4827H BEINFER 0.07 - - -
2 48278 BIREEEKR 0.07 - - -
3 4823H RENE/NFER 0.07 - 0.07 0.06
4 4H24H ZINER 0.06 - 0.06 -
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5 4824H FERER 0.06 - - -
6 48278 RN 0.07 - 0.07 0.07
7 4821H FIGEREER 0.07 - - -
8 48218 BE/INERR 0.08 - 0.08 0.07
9 4821H RIE/NER 0.08 - - -
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